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Topic:- Child Development & Pedagogy (CDP)

1) All learning is by-and-large successful when it is / It sifermT gmHT=ga: Pd framer
TrAEAEVE_ feuwmargl

1. Resource rich / GHTYT U

2. Self-directed by the learners / fRrenffay gRIT R RETAN|
3. Technology led / PIBIRCIER] ﬁ?jc_q’

4. Teacher led / TRI&® BT ﬁ?jc_d'

Correct Answer :-

o Self-directed by the learners / fRrenffal gr @G

2) Which of the following is the technique of classroom management where a student displaying
negative behavior is separated from the rest of the class? / fafafead a -1 DET U
Bt PP ¢ T8l TPRIHD HATR USRI B 91T TP BT AT H&T A (T g1 STl 82

1. Satiation technique / _g'@ dPp-ih
2. Extinction technique / oA do-ie

3. Corporal punishment / IRIN® &8

4. Time out technique / THY JHIE Th1PH

Correct Answer :-

« Time out technique / THT JHTE dH1h



Which of the following is not true about the demonstration method of teaching? / m ﬁ' @

P Rreror & siftraafea A & s A v 78 22

1. The focus is on the demonstration of concepts through experiments/activities / STYRUMSA BT

TS TN/ fohaTehaal TR higd gidT g |

2. It can be used for a multicultural classroom /WWW$&T%WWW
IJHargl

3. The learners gets an opportunity to parﬁcipate/ﬁﬁmﬁ@%ﬁ@ﬁww 3T THAT
gl

4. All the topics can be covered by this method /s’ﬂﬁfﬁmmﬁﬁuﬁﬁwmwwél

Correct Answer :-

« All the topics can be covered by this method /s’ﬂﬁfﬁmmﬁﬁuﬁﬁwmwwél

4) A 20 year old girl’s mental age is 12 years. Find her IQ. / T® 20 HTd P F‘l?ﬁﬁ &t S

S 12 919 8| 39Dt gigaisd Fpiferg|
1. 100
2. 125
3. 60

4. 65

Correct Answer :-

5) The father of Intelligence tests is ./ g@ 'q-\ﬁ'&‘l'uﬁ CAvE G %:I
1. Francis Galton / Hi TTecd

2. James Cattell / @T{[%ﬂ
3. Alfred Binet / 3fabs faq
4. Karl Pearson / CARIBRIE]

Correct Answer :-

+ Alfred Binet / ks fom



6) GDD is a developmental disability recognized in children who are ./ SISISt Th Ao

wadh srgm@T 3 S daA o frewdt 31
1. below 5 yrs./ 5 T8 ¥ BI =i A

2. age 12-14 yrs. / 12-14 TS B AT A

3. above 5 yrs./ 5 I8 U 31 & T<di A

4. above 18 yrs./ 18 Y A FW

Correct Answer :-

. belowSyrs./Saﬁ@@ﬁ%aEﬁﬁ

7) If the chronological age and the mental age of the child is 15 years. He will be classified into

which category? / Ufe =1 Ft STATIH AP Y 3R ARG Mg 15 a9 31 <t 39 forsy oft
Tiffpa far smem?

1. Superior / 3
2. Normal intelligence / JTHII §@

3. Genius / UfaHTRITE

4. Below normal intelligence / dTHT Tg’@ =

Correct Answer :-

« Normal intelligence / HHI Tg:@

8) According to Jean Piaget, cognitive development starts at stage / S fUarst & SR,

TIATHS AP AT R IR gar el
1. Concrete Operational /@-W

2. Preoperational / Eﬁ—w

3. Formal Operational / MR dfpards

4. Sensorimotor / Hadl U=y (@ﬂﬂ'ﬁh??)
Correct Answer :-

« Sensorimotor / Hagal U= (@m

9) According to Jean Piaget, preoperational children are/ S fUars & SR, qﬁ-ﬂﬁ»‘qm
AT & T B4 5Id o2



1. Egocentric/ SHDIGd @ﬂm

2. Flexible/ T (FAfaqaa)
3. Complex/ Sfed

4. Social / THTIOIR

Correct Answer :-

» Egocentric/ MG IEd @ﬂ@%

10) What concept takes into account an individual’s mental and chronological ages? /

ol cafe &Y arfre iR STargH e g FIF-A YR e # T@dl 82

1. Cognitive quotient / IITTHD HTTH A

2. Intelligence quotient / gm

3. Intellectual quotient / d\lfqacb HTh A

4, Functionality quotient / & il HITH S

Correct Answer :-

« Intelligence quotient / m

11) What is the term used to denote an unfavorable attitude towards members of a particular ethnic or

religious group?/mmmmﬂmﬂ%%m%mmmﬁmﬁ%
fere f e o1 WA ot SiTaT 82

1. Prejudice / U&UTd
2. Racism / T¥1dlq
3. Enmity/_g';m:l:ﬁ

4. Fanaticism / P &l

Correct Answer :-

o Prejudice / U&UTd

12) What type of memory may be involved in carrying out complex mathematical problems? / wfed

T TaTs @ 1 HA | fha upR 3t Wfa aftrfed g aodl 82
1. Iconic memory/q'%lﬂmﬁﬂ% (mm



2. Echoic memory / UfcIedf= Fﬂﬁf (ThIgdh HERY)
3. Working memory / I gﬂﬁf (aﬁ?ﬂ ﬁtﬁﬂ)

4. Sensory memory / Tad! Fﬂﬁf (@ﬂff ﬁ'ﬁﬁﬂ)

Correct Answer :-

« Working memory / T¢I F:jﬁf (Ollrac;)‘l ﬁ'ﬁhﬂ)

13) In which stage of Piaget’s theory of cognitive development do children develop the concept of

conservation?/W%WW%W%mWﬁﬁﬁwmwm
feRagar s

1. Concrete operational stage / Hﬁﬂw SHART

2. Post-formal stage / URe- 3T SawT

3. Pre-operational stage /Uﬁ—w S{ARIT

4, Formal operational stage / 3= TiharaTes gt

Correct Answer :-

« Concrete operational stage / Hﬁw SIIRYT

14) Thorndike’s Law of Readiness is also known as: / Q-IF[@TEE?; & daRal & a9 $I ERUGIE g
W ST ST B:

1. Law of Exercise / 3% &I 99

2. Law of Effect / THTd &1 (AT

3. Law of Action Tendency / Eap ‘;lq'f%f &1 a9
4. Law of Set or Attitude / §< T IFﬁqﬁr &1 |

Correct Answer :-

+ Law of Action Tendency / Eap EIQ'[-;([ &1 |

15) Which of these includes unhappiness when defining abnormality? / SIRITHTRIT P ufeHTia Fed

g 378 | foraw Arg=it e @2
1. Danger to self/others/ T4/3=0 & T 91dH
2. Deviance/ Taaa

3. Dysfunction / IECAR



4. Distress/ ﬁ@T

Correct Answer :-

o Distress/ ﬂTST

16) Which of the following is not an individual difference that affects learning? /

FrafafEa & 3 #9-a1 e safdea siar 18 8 <Y ftrm &t gutfya wrar 82
1. Gender / T

2. Height / TS

3. Socioeconomic status / AT -3 FRUfd

4. Caste / SITfdl

Correct Answer :-

. Height/@ alé

17) Which of the following is not a part of working memory? /fFrafeafea # 9 o9 srdia giﬁf
&1 few 151 82

1. Central executive / PAIT PRAGRT (Vg Tayagfed)
2. Phonological loop / TR-TART Taeht Ur=r (BTG d )

3. Episodic buffer / Qlﬁﬂll3$ dhR
4. Sensory register / ﬂa_qpf e

Correct Answer :-

» Sensory register / ﬂé‘cﬁ IfoReR

18) A child-friendly learning environment shall have / b TP ﬁﬂ! P d STRRTH qraTaror &
= g

1. Learner discipline / RI&T off TR

2. Learner autonomy / fRremef o T
3. Linear exposure / IR TR

4, Teacher authority / Riér &1 fUPR

Correct Answer :-



« Learner autonomy / Rrgndt ol Taraarn

19) Castration anxiety occurs in which stage of psychosexual development? / A faer &t

P A} a1 H FeaduT foidT (SR Togdl) gidl 32
1. Anal /7]al (Ucl)
2. Oral/ﬁm(m)

3. Latency / Yl (ﬁ%}tﬂ)
4. Phallic / AT (Bfe1p)

Correct Answer :-

. Phallic / A (Wfcr)

20) Rehearsing for later relationships is called

1 918 & fezal & o yahay we1 e 8:

1. Developmental Socialization / fAhIITHS THTSHHRUI
2. Secondary Socialization/ fedtae Tt

3. Primary Socialization/ B FHTSIIHROT

4. Anticipatory Socialization/ Yc|XK[IHD HH [SHHRU]

Correct Answer :-

 Anticipatory Socialization/ YHIRITHD H [SHHRU]

21) children from disadvantaged groups are less likely to have good nutrition, access

to good health care, and opportunities to /ﬁﬁlﬁ H'F‘Iff% TI B 3T
?w,a@wmmwugaaﬁv & AAR] DI AHTIAT HH gl
I

1. Play / @@
2. Learn /?ﬂ@%[
3. Study / H&HYq

4. Enjoy / 3TFig

Correct Answer :-



e Learn /Fﬂ@ef

22) CANCELLED

“Individuals are born without built-in mental content, and therefore all knowledge comes from

experience or perception.” This notion is referred to as ./ vagfadd o= foht Gﬁmﬁ
AHRI® UH30l & UeT g1d &, 3NT SHfee Jt 1 3gYa a1 YRom & 3md 17 39 YRon
Gal & ¥u ¥ Aeffa frar wmar 31

1. Tabula nota / ALY 1T (AT AleT)
2. Tabula rasa / HTGH H:RRYfA (e I
3. Tabula primus / ATIH UGl (AT UISHY)

4. Tabula novus / TTYH T (AT -Aa¥)

Correct Answer :-

« Tabula rasa / ATGH H1:IRUTT (e Ir4)

23) CANCELLED
Benchmark assessment is also known as: / STHTH STHAT BI gg W Dol Slldl %:

1. Summative Assessment / q\l‘lld-lcb HTh

2. Diagnostic Assessment / i'\'ldl"lld-lob Hlch i
3. Interim Assessment / 3IdRH 3fTHTT
4. Formative Assessment / ﬁﬂfUTW SAlh A

Correct Answer :-

« Interim Assessment / 3TN THAT
24) CANCELLED

In big 5 model, personality types are distinguished based on /33 sHISd ﬁ, i &

THR & MR R fafkre feg &ma 31
1. Culture personality/ <1 | P fae Afada

2. Personality traits / fadid fafyar

3. Emotional intelligence / HIdh g




4. Season based/ T3 STUTRd

Correct Answer :-

« Personality traits / HfadiTd m

25) CANCELLED

In Erikson’s theory, the aspects individuals generally focus on developing during adolescence and then

during young adulthood is called / m%mﬁ, Wmaﬁ P AMHAR W
%@W%ﬁﬂg%ﬁﬁwm%ﬁa%mm%aﬁ?ﬁwwm%m
RGN

1. identity, basic trust/ Ugdl-, Hd fayrg
2. identity, intimacy / UgdI, STHTT
3. intimacy, identity / 3{ARITdI, UgA

4. basic trust, identity/ H{cI ﬁ”dm , Ugdld

Correct Answer :-

« identity, intimacy / g9, fT&adl

26) CANCELLED

According to Piaget when an infant reaches about 7-9 months of age they begin to develop what he
called_ ./ UGS & SII9R, 919 TS R @TUT 7-9 A1 &1 39 a6 Ugaar g, ai d
ReRMERTRIRRATER_ @erdl

1. Egocentrism/ slilﬁlléﬁ

2. Personal fable/ quarl‘l(‘l dOrc'\Hd

3. Object permanence/ d¥q B IBor|
4, Inductive reasoning/ ANTHATHD GC2

Correct Answer :-

+ Object permanence/ 9] QT

27) CANCELLED

The condition wherein an individual loses awareness and flees his own identity is known as

agf@rﬁrﬁwﬁaﬁéw%rm@ém%ﬁﬂmﬁwﬁm%m%
P EUAEHEISE gl




1. Shock / 3TUTd
2. Repression / qH

3. Trauma / AHfETd
4. Fugues / W1

Correct Answer :-
« Fugues / W
28) CANCELLED

The way a person presents any information in his/her brain is an example of his/her. / ] aje I

%ﬁéwﬁrmmﬁﬁmaﬂmaﬁwm%wmﬁﬂmm

1. Personal characteristics /@W G‘Ff\‘l-lﬁ&FUT
2. Cognitive characteristics / ST S{THTET
3. Emotional characteristics / lﬂa'q:uf WW&WT
4. Academic characteristics /QT&‘TUT Giﬁ-la&l'UT

Correct Answer :-

« Cogpnitive characteristics / IATHD Sfeem

29) A teacher can replace the term 'Failure' in his/her feedback with / U fR1&/% g+t ufaferar
H ¥ BT g B ufaATia H= gadr 8-

1. lack of intelligence /qu@ﬁ HH

2. Incompetency/&l'chw

3. learning disability SITRTH 3ferHdT

4, emerging in learning / ST H SUAT

Correct Answer :-

e emerging in learning / STIRTH H IHRAT

30) One student is not able to learn in the class as his/her pet is not well. Most likely factor
affecting learning is -/ T BT H&T A Tg1 WG UT 38T 8 FP ITDT UTelr U] St 781 8
SR B gUIfId HA aTe gad GHIfAd RS @



1. lack exercise/ H¥IH CAKZE

2. adverse emotional condition/ Qﬁf@ YTaTdT o fRufd
3. lack of sleep/ '_‘ﬂ?{ P HHI

4. lack of nutrition/ TIS0T & HH

Correct Answer :-

« adverse emotional condition/ Ui el HTA-THD TRUfd

Topic:- General Hindi (L1GH)

1) o9 gu 931 g s ft oY qu g~ ok Swds el @1 gra Midt-wid frarel # uehtt Suw qw foramn
3Tie; foram, S Rt et a1 Iu=ur & off 7 v @1 97 | gu W @) € i 97 R arEl-we
i W1t 8 SR ga fAl 9 sud PIg et 7 o1 el ¥ ugd R IHaR A 3R SRl | g U T
Y UT 9 5 CRA W DS AGR dter 7 4| 37T 519 7 gf1a1 8% TRE & Sar) o) omefr & vt g @,
I WHM FT Ta1d H31 W e €, 5 g8l $9 7 911 A g oA arat ok fagl 1, el 59
fawa &1 W I ok usT 8, foran @ 76 vo 9ay T o1 94 U7 eRedt 98¢ TRA At 3R W $IS TR 9
8T 78 ol A1 3R 3R g 379! fhard ue 3R Ugrsl 3R 9HaRl &t YR 3f3al &1 TR A ¢ @ R ge
HTH R {35 U1 THY W19 QT §RIT

ITYe TR B! TSP AR U Y U= BT IR 9130
;3T gi=raT e Aol 3 udt vt @2

1. T A PIS a1

2. Bad TGN

3. Hhad SHRI

4, SETEAN 3R SHARI G

Correct Answer :-

2) W9 gH 931 gt st dt g g ik Iud el &1 grd MA-md fharal # uehft| IuH qw e
3THig e, Ia=r frelt werit a1 Iu=ar At 1 firew g1 I < qu St 81 8 i a7 evelt ara-aeist
i [Tt 8 SR ga fAl 9% sud $Ig et 7 YT el ¥ ugd Rk IHaR A 3R SRl & Ugd Uw T
Y YT 9 3 CRA W DS AHGR dter 7 4| 371 519 7 gfra1 8 TR & war) ok omefr & vt g 8,
I WHM FT Ta1d H31 W gfRpd €, 5 g8l $9 7 911 AP g w=e aral ok fagy 3, el 59
faw &1 @ qar 3Nk usT 8, foram @ 76 e 9wy 1 o1 99 48 Ret 98¢ TRA At 3R W FIE TR
8T 78 ol A1 3R 3R g 3! fhard ug 3R Ugrsl 3R SHaRl &t QR 33l &1 1k ¥ ¢ a) g g
HTqgH B U1 96 SR I|T g

ST TR B TP 1 IR T YT BT I« AT
UR: Iolid &1 fadiH Weg T 82



1. Fifa
2. Ffera
3. %i9

4. 3fSilq

Correct Answer :-

3) 9 g It gt e |t gu g ok Iud el #1 g1 M-l fraral A ughht | Sud e e
3THig e, Ia=r frelt werit a1 Iu=arT ¥ 2t 1 fire g1 g o qu St €1 8 i ag evelt ara-aRist
¥ QR B 3R 9ga fe1 ao 08 ®ig et 7 U1 e & ugd Rk WMaR A 9k 9HaRl @ ugd Uw o
Y 4T 9 §9 WA W Bl AR 919 7 4| 311 979 98 g1 8% TRe & e Sk omefial @ v g5 8,
I WHM FT TaTd H31 W e €, 5 g8l $9 1 911 A g o=e aral ok fagl 3, Rl 59
fawa &1 g I 3R usT 8, foran @ 6 uo 90y T o1 99 1% eRedt 98¢ TRY At 3R W $IS TR A
8T 78 bl A1 3R 3R g 37! fhard ug 3R Ugrsl 3R 9HaRl &t R 3f3al &1 TR A ¢ @ g? ge
HTH R {35 U1 THY W19 QT §RII

IUYT TR Bl UGHR A IS 7Y U $T Sk 9a1s¢|
U: o BT faey wree w T 32
1. ¢l

2. TR
3.9

4. df

Correct Answer :-

4) W9 gH I3t g1 Sl at gu gfrar ok Sud sefiral 1 gTa Tidl-uidt fharal # el Iud g o
3THig e, Ia=r frelht werit a1 Iu=ar ¥ At 1 firew g1 g <t qu St 81 8 i a7 evelt ara-aRist
i [Tt 8 SR 9ga feHl 9% 3ud $Ig el 1 T el ¥ ugd Rk IHaR A 3R 9FaRl & Ugd Uw T
Y YT 9 3 CRA W DS AHGR dter 7 4| 31T 519 78 g1 8% TRE & war) ok omefr & vt g 8,
I WHM FT Ta1d H31 W gipd 8, 5 g8l $9 7 11 AP g w=e aral ik fagl 3, ReiA 59
fawa &1 @ Jar 3R usT 8, foram @ 6 U 9wy 1 o1 99 U8 Ret 98¢ TRA At 3R W FIE TR
8T 78 ol A1 3R 3R g 3! fhard ug 3R Ugrsl 3R 9HaRl &t QR 33l &1 1k ¥ ¢ a) g g
HTgH B % U1 96 SR I@T 8N

ST T DI UGHT A1 I Y Y= BT IR 91|
U: ‘UBTS’ FT ydigardt o 8?2
RIE

2. 3fgat



3. 7R
4. ffi

Correct Answer :-

5) 99 gU 931 g i &Y qu g 3k Sud Sefirl &1 gra Midl-uidt fharal # ughft | 3ud g o
3THig e, Ia=r feelt werit a1 Iu=ar ¥ At 1 firew g1 I <t g8 St 81 8 i g evelt ara-aRist
94 QR B 3R 9gd feA1 ao 08 $Ig et 9 411 il | ugd Rk WMaR ¥ 3R 9HaR] @ ugd Uw o
YUY YT 9F 39 Ul IR BIS TR 9 9 A1 1o 59 g8 gfar a% ave & IFaR) ok smefira @ uft g 8,
I T BT Ta1d BT Mt GiRwd 8, 9 98T 99 | 4T Afe=1 fage s aral ok fagmi 1, ’reiq g9
fava &) @ T iR usT §, o @ f uer quy U1 o1 oid 9% Rdl 98¢ TRA At 3R SUW $IS 9FeR 9wl
8t T8 Tl A1 3R 3R g P! fhard ug 3R UgTsl 3R FHaRl 3t QR 33l &1 1R A ¢ a) g8 g
HIGH SN 6 ¥AT 7Y S™ TET 81|

IUT TR P UgHR A2 IR Y U= $T Ik Farsy|
U: SRl W ATGRE] & Ugd DI °T?

1. S[Hd}

2. SWRIad It

3. gfgal
4. fopard

Correct Answer :-

6) 99 gU ISI g S aY qu g 3k Iud Sefirl &1 gra Widl-uidt fharal # ugnft| 3ud g foramn
3Tig Frdrm, ST et et ar Su=arw & *ff = e €11 e A g W ) ) e R are-werst
T QR B 3R aga fo= a@ sud ®15 et 7 U1 el | ugd Rk wiMaR 2 iR 9aRt @ ugd uw
[Y YT 9 T WA W BIg AR 9 7 4t | 311 o9 I8 gFran 83 e & sHaR] ok amefirali @ vfi g3 8,
I UM BT Ta1d BT Mt GiRwd 8, 19 98T 99 | 411 Afe=1 fagm s aral ok fagmi 1, ’reiq ga
fawa &) @a T iR usT B, foran @ f ue qw U1 o1 oid Ug eRdl 98¢ TRA At 3R 3UW FS 9FeR diwl
8T 78 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R el &t R 3fdl &1 MR A ¢ Y g ge
HIeH I fob QT THY SIe) 8T &1

ST TR P UgHR A2 IR Y U= $T Ik Farsy|
W= Rl e af R @2

1. 3RS Y

2. TH Y IS gl

3. GORI Y

4, ArEl-HrS! Y



Correct Answer :-
. ARG ay

7) 9 g9 33t gt weif at gu g ok 3ud el &1 gra MdA-md fraral A ughft Sud e Ramn
3T i, IaAr fodt e a1 Iu=arw | ot 9 fira ghm gg ot gu s €1 1 o a5 eredl aral-ast
g Tt 8 SR ga feAl 9% sud PIg Smet 1 uT| el ¥ ugd Rk HaR A iR SRl | Ugd Uw T
WY 4T 9 §9 WA W I AR 91 7 4| 311 979 98 g1 8% e & SHal Sk omefial @ 4 g5 8,
I T &1 Ta1d AT ot G d 8, 9 g8l $9 | 4T Afe= fage s aral ok fagr 1, freiR g9
fawg &) @a T ik ueT B, foran @ f ver wg U1 o1 99 9% Rl 98¢ IRA At 3R 39w $iIS AR A
81 78 9Pt A1 3R 3R g ITH! fohars v 3R vers! 3R SHaR) ) R ef3al & TR A 3 Y sR Qg
TTH R {35 U7 THY W19 QT §RI

ITYE TR H! TSP 1R U Y Y= BT IR 9d13¢|
TR: tRelt Ugd Hat Atz

1. 68

2. oild

3. [H
4, TH

Correct Answer :-

8) W g I3 g1 wraih &t g gfar ok 3ud snefiral 1 gra Wd-uid fparal & uehht Iwd g e
3T fira, IaAr fodt et a1 Iu=arw | ot 9 firan ghm gg ot qu s €1 81 o a5 eredl aral-ast
g [Tt 8 SR aga feAl 9 sud $Ig et 1 uT| snefial ¥ ugd R HaR A 3R SRl | Ugd U T
WY 4T 99 9 WA W Bl AR 91 7 4| 311 79 98 g1 8% e & SHasl Siv omefial @ 4 g5 8,
I T &1 Ta1d AT Mt G d 8, 9 g8l $9 1 4T Afe= fagm o= aral ok fagr 1, freiR g9
fawa &Y @a T ik usT B, foran @ f ver g U1 o1 99 98 eRdl 98¢ RA A 3R 39w $iIS AFeR A
81 78 It A1 3R 3R g ITH! fohars v 3R veTs! 3R SHaR) ) R ef3al 1 TR A 3 Y gR Qg
TTH R {35 U1 THY W19 QT §RII

ITYe TN B! TSP 1R U Y YR BT IR ad13¢|
e e & @ 919 e faur 98 82

1. B!

2. Diddl

3. 34U

4, ey

Correct Answer :-

. Didal



9) &9 qu 931 g STt af g gfrar SR IuF el &1 gra Midl-uidt fharal & uenit 39w gre R
3THg e, Ia=r frelht werit a1 Su=ar # ot 1 firem g1 a5 o qu St €1 8 6 aw Rl ara-wRist
g Tt @ SR ga feAl 9 sud SIS et 7 uT| snefiral ¥ ugd R SHaR A iR wHaRl | g U T
WY YT S 5 RA W BIg JHGR A 7 A1 311 51a 75 gFam &3 aRe & SaR] SR el 4 wf g3 8,
I U BT TG1d BT Mt GiRwd 8, 9 981 90 | 1| Afe=1 fagm s+ aral ok fagmi 1, ’reiv 5o
fawa &) @a T iR usT B, foran @ f ue g U1 o1 o9 9% eRdl 98¢ TRA At 3R 39w $IS 9FeR diwl
8t 8 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R 9Ha’l &t R gf¥df IR A A g e
HTqH T 6 U1 6y S 7T /NI

IUa TR P UgHR 1Y YR T U= $T I} qarsy|
T SR & RS St & aR ¥ fraq wrde @ie ot
1. QIigIBRI A

2. SWRIGd It

3. aqT A

4. RIUSRI A

Correct Answer :-

S RIIECIE]

10) W9 g g3t g1 St at gu gfrar oik 3uF el o1 g1a widt-wid fararal & ventt Iud g foramn
3THg e, Ia=r frelht wert a1 Su=ar # ot 1 firem g1 a5 ot qu St €1 8 6 aw Rl aral-wRist
g [Tt @ SR ga feAl 9 sud SIS et 7 uT| snefiral ¥ ugd R SHaR A iR wHaRl | g U T
Y YT S 3 SRA W DIg WHGR A 7 A1 311 51a 75 gFam &3 aRE & e ok el 4 wf g5 8,
I UM &1 TG1d BT Mt GiRwd 8, 19 981 $0 A 41| Afe=1 fagm s+ areal ok fagmi 1, ’reiv ga
fawa &) @a T iR usT B, foran @ f ue g U1 o1 o9 U8 eRdl 98¢ TRA At 3R 39w $IS 9FeR diwl
8t 78 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R 9Hal 9t R gf¥df IR A A g ge
HTgH T 6 U1 6y SR 7T /NI

IUa TR P UgHR 1Y IR T U= $T I} Tarsy|
=: MIA-11EL fparal # frae g1 fear gan @2

1. deh-itehl b1

2. faqH &1

3. SFaR] Bl

4. g b1

Correct Answer :-



W9 gH g3t g1 Seift at gu gfra ik Iud el o1 g1a widt-wid fararal & uentt Iud g foramn
3Teie; v, ST et et ar Iu=ar & ot 7 v g1 98 o gW W ) 1 97 R e
g Rt @ SR ga feAl 9 sud FIS et 7 uT| snefiral ¥ ugd R SHaR A iR waRl | g U T
Y YT 919 39 SRA W D13 FHGR 9 7 A1 31 519 78 g1 8% T8 & FHaR] SR smefral § Wi g5 8,
I UM BT Ta1d H31 Mt GiRwd §, 19 981 $0 | 41| Afe=1 fagm s+ areal ok fagmi 1, reiv 5o
v @ @e ar ok usT 2, ot @ 6 v 9 T o1 919 U8 Rt 958 TRA A R THR P TR A
TEY 78 TPt N1 3R 3R gH ITP! fobars U 3R vers! 3R SHaRl & R ef¥al 1 TR A 3 dY gR Qg
TqH g1 6 U1 6y S I/ /N

ST TRl $ UgH 1 U T Y= T &k Farse|
w: fage &1 srd w82

1. fafkre 3=

2. fafay =

3. fauTiora I
4, faida 3=

Correct Answer :-

. fafry 3=

12) W9 g0 g3t g1 St at gu gfrar ok 3ud el &1 g1a widt-uid fararal & uett Iud g foramn
3Teie v, ST et et ar Iu=ar & +ff 7 v g1 98 o gw ST @) € i 97 R areEt-were
g 1t @ SR ga fAl 9 sud FIS et 7 uT| el ¥ ugd Rk SHaR A iR wHaRl | Ugd Uw T
Y YT 919 39 SRA W D13 JHGR 9 7 A | 31 519 78 g1 8% T8 & FHaR] SR smefral § Wi g5 8,
I UM BT Tg1d 31 Mt GiRwd 8, 99 981 90 | 1| Afe=1 fage s+ areal ok fagmi 1, v 5o
v ) @e ar ok usT 2, ot @ 6 v w9 T o1 919 O% Rt 958 TRA A R TUR P TR A
TEY 78 TPt N1 3R 3R gH ITP! fobars U 3R vgrs! 3R SHaRl & R ef¥al H TR A 3 Y gR Qg
HTqgH B 6 U1 6y SR I/ /N

ST TRl $ UgH 1 U T Y= T I«ik Farse|
W= fam &1 Wt Wf-fasse 82

1. fo+maE

2. d+3H

3. g+

4. fa+3=

Correct Answer :-

. fa+m

13) &9 g0 991 g1 SISt af gu girar ok Suds Srefral &1 g1 Jidt-Aid fharal § gt 39+ gwe foramn
3Teie v, ST Rt et ar Iu=are & ot = v g1 98 o g ST €1 € i 97 eRe aret-wee
i R 3 3R 9gd 3 9 39d F1S 3met 7 uT1 el | usd R SaR @ 3R wiFaR) @ ugd e T



Y 4T 9 §9 WA W I AR 9 7 4| 311 o9 98 g1 83 TR & e ok amefial @ vf g5 8,
I U BT Ta1d BT Mt GiRwd 8, 9 98T $9 | 411 Afe=1 fagm s aral ok fagmi 1, ’reiv ga
fawg &) @a T iR usT 8, foran @ f uer qw U1 o1 oid 9% Rdl 98¢ TRA At 3R 39w FS 9FeR diwl
EY 78 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R el &t R 3f3dl &1 TR A ¢ Y g ge
HIH SN 6 AT 7Y SR TET e

ST TR F UgHR A2 IR Y U= $T Ik Farsy|
TR HE S IU=UT | gl 82

1. 93!

2. RIS

3. 399 A B TE
4. Bt

Correct Answer :-

14) W9 g0 g3t g1 St ot gu gfrar oik 3u%F el o1 g1a widt-wid fararal & ventt Iud g foramn
3Teie; foram, ST Rt et ar Su=ar & off = v g1 97 o gW ST ) € i 97 R aret-see
f R B 3R 9ga fo=l a@ 3ud 315 et 7 U1 el | ugd Rk wMaR 2 iR 9aRt @ ugd uw
[UY YT 9 3 WA W BIg AR A 7 4t | 311 o9 I8 gFam 83 e & sHaR] ok amefirdl @ vfi g5 8,
I UM BT TG1d BT Mt GiRwd 8, 919 981 99 | 411 Afe=1 fagm s aral ok fagmi 1, f’reiv ga
fava &) @ T iR usT 8, foran @ f uer qwg U1 o1 oid 9% eRdl 98¢ TRA At 3R 39w FS 9FeR diw
8t 78 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R wHaRl &t R 3fdl 1 TR A ¢ Y g ge
HIH SN 6 AT 7Y SR TET Eh |

ST TR F UgHR A2 IR Y U= $T Ik Farsy|
UH: SHaR] T THad- T GRIT?

1. WlHaRR

2. S}

3. S[a’T

4. SR

Correct Answer :-

15) W9 g0 g3t g1 Seift at gu gfrar ik 3u%F el o1 g1a widt-wid fararal & ventt Iud g foramn
3Teie; o, S et et ar Su=ar & ot = v g1 98 o gW ST ) 9 i 97 R aret-were
g Rt @ SR ga feA 9 sud SIS et 7 uT| el ¥ ugd R SHaR A iR wHaRl | g U T
TG YT 9 9 YRl R DIg AR et 7 A1 311 59 98 a1 g3 a8 & JHaR] 3R el § wit g8 8,
I U BT TG1d BT Mt GiRwd 8, 919 981 90 | 41| Afe=1 fage s+ aral ok fagmi 1, ’reiv 5o
fawg &) @a T iR usT B, foran @ f ve g U1 o1 oid 9% Rdl 98¢ TRA At 3R 39w $IS 9FeR diwl



8T T8 ol A1 3R 3R g 3! fhard ug 3R Ugrsl 3R 9HaRl &t QR 3f3al &1 1k ¥ ¢ oY g g
HTgH B U1 U SR I|T 8N

SULT T B TGP A2 TS T YT $T SR AR
W= fpare &1 agaae gm?

1. Hidre

2. fparel

3. fararrel

4. fordral

Correct Answer :-

A vl areft A § '
a9 ¢ 4 9gd WR B

ITYe U= ) Ugeh? 19 YR o a1l R $T S@i¥ Sa1s¢|
UR: ‘BIE Gg ISt a1 & gerar a1 3 72

1. HIY decfHl

2. 3FIHA g

3. URATE gl BT

4. 3T eRITd q TgHR a1 HRAT

Correct Answer :-



. 3O SRITd W TGP ST BRI

17) g8 fafgar =n-

I AR B
Y- Gt & g

Y, wAEm AN

98 DI "andt Rifga

A v archt A §

T 3 I 95 WR g1

ag fafsar =n-

o Gid B

¢ T9-919T & WifaR

I ISA B M A &

98 B Ye e fafea

A vl areft A §

73 fae-T A sga wuR 1

gg fafsar =i-

T AR BT

Tt 7Y o1 fed el wR

ST P Al & STl 8

g% BIdt IRTer fafsan

i vEl areft A §

9 T4t & 9gd WR B

ST U= Bl g 1 IR o a1 U BT S@X qarsv|
UR: ‘g4 A} BT fod Taia ®e ufa &1 ordf a2
1. 390 Y PIs Tl

2. 141 &1 fed Iga™ & fag
3. 941 & U ¥ U@ hR b

4, TE1 BT G HRb

Correct Answer :-

o T BT I IRb



fAvEi arelt & §

g3 foeq A aga wR g1

ag fafgar =n-

I AR B

TGl I o1 fed eea R

S BT At o STt @

98 S IRl Rifsar

A vl archt A §

IF TN A TG WR ¢

STIT U Bl UgHR -1 I 9 a1ad Y= T IR qarse|
ue: fafsar 9fa ares a1 @l 82
1. STH Y IS ol

2. AIgaH

3. JHSH

4. 98 & aH
Correct Answer :-

S e

Ao ach d§
T3 T A gga WR g

ST U= BT g 1 I o a1 U BT S@iX qarsv!
wY: FEY Treg W B Al I 8?2
1. HfdIaTD

2. HIdddh



3. JqgdrEa®
4, Sifdara®

Correct Answer :-

ST IR DI UgHR -1 T WM aTdd U BT S« garst|
WR: W T FHHTST 2eg 1 32

1. Had Agsd

2. Hdd g

3. had We

4, IWRIad gt

Correct Answer :-

o SWRIgd gt



O A Igd WR B

gg fifsar=n-

o W P

¢ I9-919T & WifoR
TISAPIM A &

98 BI1 e Tl Rifgan

A v arcft A g

T e A sga @R 71

gg fifsar=-

AT AR B

TG T FT @ eela Hr

ST BT Hidl & STl @

9% B! IRaTe fafsar

A v arcft A §

IR T A TgA AR B

ST YIS Bl Ugdh A1 I o aTel U= $T IR 9a1g¢|
U=H: 9d) T ygigars 78} 82

1. Yodd-q

2. YarfgHl
3. giar
4, dfe=ir

Correct Answer :-



SUYF U D1 UGHT A1 I oI a1 ¥ BT I Jad13¢ |
WA TR I qred 82

1. 64 ¥ gad

2. RReH

3. 79T

4. 774 9 gard

Correct Answer :-

. T4 A G

A v arcft A g '
3 7 A Tgd WR B

ITYe Ui 61 Ugdh: ) IS 9 a1d U= o7 Ik 138
W UGl BT T 54T 82

1. e

2. ghg

3. GtaTr

4, offcl

Correct Answer :-



24) dg fafsars-
AT AR BT
FURIA Rk |
IR, MA@ A
a8 BIdt "ant fRfgar
A v arcft A

g 3T A 9gd WR 3|
g8 fafsar=n-
&S W BT

§¢ T-914T1 & Wik
MIa IR MAG ?

9% 311 e Al Rifgan
A v areh A

g3 fie A gga wWrR 81
gg fifsarsn-
g AR B

Tl Tl BT fd eela w
Sl T At & Sl

98 B4 IR fafgan
A vt arh A E

T T A Tga WR B
ITa TR $l UgH -1 T 9 aTel U= HT Ik aa13¢|
U ‘g P A | g?
1, oidi+

2. fpaIR

3. Ry
498

Correct Answer :-



ISt A1 F1 fget ecla o

T BT At @ St @

98 DI IRt g

Ha vt areht A §

g3 7 | 9gd WR B

ST TSN P UgH? T IR W aTd U $T I« gaTse|
U= WRgd Sfdar A Rifgar i 32

1. el daf arent

2. IRIed ot

3. TRl

4, Gt

Correct Answer :-

o SWRIad gt

98 DI Yg atelt Rifgan

A vEf arcft A g

73 fas A Tgd WR B

g8 fRfsar=n-

AT AR BT

I3t 7<) b1 fed cala HR

Sl T Al o STl &

9% B! IR fafsar

A v arcft A §

9 T4 A Tgd WR B

IUY U Bl USHR -7 IS FH a1 U BT I aad1s¢|
UR: ¥’ &1 Ay o gme
1. 9R9g

2. Hiot

3. Y

4. THHIH



Correct Answer :-

§¢ I1-914T & Wik

MISAFTMAN B

9% 311 e Al Rifgan

A v ari A g

g3 e A ggd wWrR g1
g8 fRfsar -

iﬁ%rm?w

TG Af P fea ecia s

W BT A F et 8

98 I TRt fRifgan

A v arh A E

T T A Tga WR B

ST U= B UgHR -1 TR 9 aTd U T Sk 9a1sTl
= RIfEar &1 g w82
1. fafear

2. STH A BIS gl

3. faen

4, st

Correct Answer :-



THISA PR M Tt §

98 DIl Yg aral fafean
A v arcft A g

73 fas A Tgd WR B
a3 fafEar <i-

T AR F

TG T FT @ eela Hr
ST BT A & St @

9% BId IRaren fafsar
A v ar A g

TR TR A Tga TR B
IUY U DI USHR -1 IS FH 1 U BT I aa1s¢|
< faeH o1 3 82
1. Hig-118

2.9

3. fafora

4, Thid

Correct Answer :-

A v ar A g

T3 3T A 9gd WR 3|
g% fafEar -

3 T B

§¢ - 9141 TR
WA PTMAS ?

9% 311 e Al Rifgan
A v areh A E

g2 fie A gga wWrR 81
ag fafsar =i-

T AR T

TG A P fea eta o
T BT At @ St @

98 DI IRt g
A v arh A E

T T A Tga WR B
STa TR Bl UgH -1 T 9 aTel U= o7 Ik aa13¢|

U= TRgd Sfdar A Rifsw # fFaa wr 82



1. Fal
2. IWId g+t
3. fasH

4, 3d

Correct Answer :-

RIGRTCIE IR

73 fas A Tgd WR B
a3 fafgar <i-

T AR B

Tt A} P fed ecta ax
T BT A & St @

9% Bl IRt fafegan
A v arcft A g

IR T A Tga @R B
ST Ui Bl USHR -7 IS 9 a1 ¥R BT I Ia13¢|
U= Hard | areud 32
1. 37UH Xg+ arel

2. I g arell

3. 3fqtd Xg arell

4. TART=T X8 arem

Correct Answer :-

« g ara

Topic:- General Urdu(L2GU)



Correct Answer :-

. iﬂ,ﬂ,}.ﬁ;

2)

BEbl be el S

L F

s~
2.
-
;UWMHI
3.
i\
4, -

Correct Answer :-

e
;UTMMI

3) . o g
&{;Jl" U Lj:lj/‘z?;l;/f’



FELJF

/4- b
V4PN
2.

e A

sl

Correct Answer :-

-

FELA

-7
e S nlsn

(5139555 3937
e lans 00

2.
Sl
3.
',4
O
4,

Correct Answer :-

e



o .
bt
1. Y-
=/
2.
G
3.
L
,..JLU
4,

Correct Answer :-

U
2.
&
3 Vs
S
4l Ead

Correct Answer :-



Correct Answer :-

S S

F xSy

b

Correct Answer :-

4.

S

9 . o
E S e f&j%i B 2807
L2y
1.



-y Ly
3.

. &
. S

Correct Answer :-

LRy
" %M-,-JL"JJIZ;&
e U 2l T
N %-LFJJ/‘BL‘TLJLE{, L.;,:‘K.,,T
:':_.L_FJJ Vi L‘Tuli{, P /::‘H_.;
3,
. :f_.JJJﬁL‘TLJLE{, #_./.:‘i.f"

Correct Answer :-

c’ * 4.-" il
Vel fL,fLE{,f__/;:‘Ef.ff

1.

pale
2.

=



o

Correct Answer :-

sl

k -
1
1.
A
2.
v
3.
4,

Correct Answer :-

13) f‘;

%-,Lf-.:-ﬂft’;,ﬂh_?
1 bl PSS By sy
2 LA S s

Fuson AL 2 =nf

3.



-:-fbd’tfﬁd,ff: fﬁlry I

4.

Correct Answer :-

Cfﬁdif,/fil)/l.:uf/

14) . =
T | & »3
Ll s J.T.;;IJJ;I

L L:f,@.}pfgﬁfd;r

N e,
; Lc{,@."prjgfug
. il s>

Correct Answer :-

?ii' KL/"I ~+ /“V’ I._/_l:ji:‘,u':

- " -~ .
bk il f ol s 2

A3 /’

1.

e

2.

BV
3.



)
Ve
4,

Correct Answer :-

. J 7
e
FFECr
1 =) l:'-f{:,e.g_’lf'b
N =1 t'-f{::.:'”ﬁ
= = t'-f{:,-_,g'v:
. A Tl/‘;ﬁ el

Ldb}{:ﬁ”ﬁ
17) i 5
.‘L.;g}uj}fﬂj*u;}
K
1.
2. Jﬁ(
Iy ~
N A,
v



Correct Answer :-

A

18

) w2 —
ey =298

£
= (¥
1,
s B
, e S PL S
; e LA
. = S

Correct Answer :-

S

- .
VL
1.
qu;
2.
=
3 :
¥
4,

Correct Answer :-

O[-P4



o~
;I,FT
, I
e
. Y

21

1.

2. |
Py

3, A
L*

4,

Correct Answer :-

22) e
:";.Jhu Ell_f,fgf,fl,!ff



. =LA

Correct Answer :-

= L
23) 2 y
f:_.Efu L%MJLJIL’Q}(LJJEEJJ
¢ o ;ngﬂ
, 2
N
e’
3,
U6 2
a,

Correct Answer :-



..:*.fJL;(

4.

Correct Answer :-
= LJ/

b
P
e

26)

Lo W et me S 8 A S U S

e A

1. ukﬂr.



2.

3. LJL?
&4\

4.

Correct Answer :-
rw-f b

27)

26 B e FT S 2e g

Ny~
1. 7
F

Sz 2
3.

i

4.

Correct Answer :-

S A

28) s
e I Kl

IS
1.

5 ﬁf.ﬁldjllﬂ;l/;}



e

4, *
Correct Answer :-

SIS
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Topic:- Mathematics (MAT)

1) If xy=1 then factorization of x+y+2is: /
g xy=1 Gl X+y+2 BT U %:

L. (x+1)(y+1)

2. (x+1)(y-1)

3. (x-1)(y+1)

4. (x-D(y-1)

Correct Answer :-

o (xt+D)(y+1)

2) Match the following:-

i. 1 added to x a) -5q

ii. 8 subtracted from p b)x+1
iii. -5 multiplied by q c)p-8/
Frafataa o1 e «¢-

i, x ¥ 15T a) -5q

ii. p ¥ 8 eI b)x + 1

iii. -5 @I q | UM BT c)p-8
1.i—b,ii—a,iii—c
2.i—b,ii—c,iii—a
3.i—c,ii—a,iili—b
4.i—c,ii—b,ili—a

Correct Answer :-



e i—b,ii—c,iii—a

3) All round development of a child is reflected through ./

TP g &1 9aiiir e & "y | ufvafaa g g1
1. Anecdotal record / JATd (Udsicd) e

2. Case study record / SAGIId T (B Tah) AT

3. Cumulative record / Jo} 3HfeRd

4. Scholastic record / & Sffrera

Correct Answer :-

e Cumulative record / Tt siftrerg

4) If two cubes each of edge 10 cm are joined end to end, then the surface area of the resulting
cuboid is ./

10 A fFR 9 T UAF RRI A IS €, A uRumi ey s gl eapa @1
1. 1500 sq cm /
1500 I Gt
2. 1000 sq cm /
1000 I Gt
3. 500 sq cm /
500 & Tt
4.750 sq cm/
750 ¥ T

Correct Answer :-
e 1000 sqcm/
1000 T I+t

5) What is the number of the diagonals we can draw from one vertex of a polygon with 11 sides? /
11 YSIT3H AT 9gYS & T MY & g4 fraq el fafia o3 awd &2
1. 8

2.10



3.9

4.7

Correct Answer :-

6) Which of the following statements is NOT true about whole number? /
fFrafafaa d T yof Jensi & Jay & S19-91 $Y7 97 781 82
1. 0 is a counting number but not a natural number. /
0 Ueh 0T T8 TRAT B, Afh+1 Ueb Ighd T -1 8|
2. The whole number 0 doesn’t have any predecessor. /
qUl ST 0 BT HIg gaad! & Te1 ol 6|
3. The additive identity of all natural numbers is a whole number. /
Tt U1 TReamaft Bt AT THReudT Ueh uf TRe gt 3|
4. The predecessor of the first two digit number is always a single digit number. /
UE Gl 3ih] BT UG 1 Gdad| G GHRI Ueb 3ih 1y HAT gielt 3|
Correct Answer :-
« 0 is a counting number but not a natural number. /
0 T TTUMHT 9 TWRSAT 8, Ao T UIghd T g1 8|

7) Which one of the following statements is true about integer? /
frafafea & & S9-91 oY ife & ddy & 9a 82
1. On dividing a negative integer by a negative integer we get a negative integer. /
TH BUTAS QUifes Bl T BUTES JUITG I AU B TR 89 HUNeTd QUlids U gl §
2. On subtracting a negative integer from a positive integer we get a positive integer. /
UH TS YU F T BUTEHS YU &1 geH IR 81 U ¢-TeTd Julids UT gidl g1
3. When a positive integer and negative integer is added we get a negative integer. /

9 U YIS QUIich 3R U QU HI SiIST SfTdl g df 89 Ut Julids UT I g

4. On multiplying a negative integer with a positive integer we get a positive integer. /

TS HBUTEHS YN & 1Y Teh YIS QUIfeh &1 0T B WR gH Y-S JUTieh UTed gial g |



Correct Answer :-

» On subtracting a negative integer from a positive integer we get a positive integer. /

TP YIS QUTich o U BUHS QUITH B! ge IR g8 Ud YT Juifes UTe g1t g |

8) Which one of the following statements is correct about number? /
FrafafEe & @ F19-a1 $3= SN & ddy ¥ 99 32
1. Nine is a prime number. /
T TH ST T3 |
2. There are only 9 prime numbers below 20. /
20 T R Hae 9 U TSI 5|
3. Every number is a multiple and factor of itself. /
TS T W BT T U1 3R e Bldll g
4. Number of multiples of a given number are finite. /
& TS T & U1 BT W WA el 5l
Correct Answer :-

» Every number is a multiple and factor of itself. /

Tieh e T BT Teh T[0T MR Ueah Bldl g

9) A train covers a certain distance at a uniform speed. If the train had been 5 km/hr faster it would
have taken 1 hour less than the scheduled time. And if the train had been slower by 20 km/hr, it
would have taken 6 hours more than the scheduled time. Then the distance covered by the train is:

/
TS 31 Th QU 91 A T g3 U e gft au o<t 81 afg 21 5 el ver aw 9 @ gacdt g A 9g
Frutfea T 3 1 ge1 $0 AN 8 3R afe 27 20 fpeft/ver fivht wfy 3 Tach @ o FufRa 979 3 6 W@ iftew
A B, A T R 99 P W g R
1. 2240 km /
2240 Tt
2.2000 km /
2000 foait
3. 1050 km/
1050 fopeit

4, 1080 km /



1080 ot

Correct Answer :-

e 1050 km/
1050 fepeit
10)
In the given figure, if #C=40°, then ~A and #Bare:
B
A C

& a5 iy &, afy £C=40° &, G LA vd £BE:

50°.90°
1.

100= 40°
2.

40°,100°

90°_ 500
4,

Correct Answer :-
40=.100¢°

11)
In a circle centred at “A’, the angle between AB and AD is 80° where points B and D lie on the
circle. If Clies outside the circle and CB and CD are the two tangents . then the value of angle

BCDis ./
A &g arer U ged A, AB ©d@ AD & & @ar v 80° &, =gl fag B vd D ged W
feura §1 of¢ C gca & g & g § dur CB 3R €D & wa¥i@r §. at &ior BCD

FAT B

110°



100°

2.

120°
3.
4 90

Correct Answer :-

100

12)

AABC is an isosceles triangle in which AF = AC. Pis a point inside the AAEC such that
APEC is an equilateral triangle If #4 = 30°%then find £ZABP.

aﬂgcww@a@ﬁgaﬁﬁ?ﬁﬂgzﬂc €1 AABC® 37eY U fdg P 56 % &
f APBC ws TASTE BRI ©1 AR 24 =30°%, dF £4BP 1d |

450
L8

15°
2.

350
3.

25°
4,

13) 1, ADEF 2D=60°.2F=50° then /

ADEF &, 2D=60°,,F=50°ar:
1. FE>DF>DE
2. DE=FE=FD
3. DE<DF<EF

4. DE<FE<DF

Correct Answer :-



o DE<FE<DF

14)

Ifthe sum of the squares of zeroes of polynomial 6x? + x + k is % ,then the value of kis___ .

aﬁagﬂt6x2+x+ké?aﬁ$"r$aﬁfﬂam§ gay k& AT 1

1, 72

-]
, 3
3.2

4.3

Correct Answer :-

. -2
15) . ) A %
Find the value of x° -I-;w*henx i 2.
Sd x —- =28, @ x?+ S & AT A W
1.2
2.8
3.6
4. 4

Correct Answer :-

16)

[fthe tangents PA and PB from a point P to a circle with centre O are inclined to each other at an
angle of 80° then #POA =

gfe veh fdg P & U “O" &e arell Uah dod &1 ar T Y@ PA gr PB Tdh-g@y &
80° & HIvT W Aedr § dr zPoA= |

80
1.



2.

250
3.

30°
4.

17)

The average temperature of Mondav, Tuesdav and Wednesday was 40°C. The average
temperature of Tuesday, Wednesday and Thursdav was 41°C. If the temperature on Thursday
was 42°C, what was the temperature on Mondav?

TIAGR, HIldR Ud eaR & 3id dgAT 40°C o) HIleldR, §9dR Ud &R &I
sira AT 41°C oml IfE IEER T AT9ART 42°C o, df HHGR & a9\ fhde
qT?

41°C
1.

38°C
2.

40°C
3.

39°C
4,

Correct Answer :-

30

18
) Find A+ 4D & £B + £C of a cyclic quadrilateral ABCD in which

tA=3x-1 /B=y2 C=2v+6&D=5x+7 1/
T ThT AgHel ABCDH LA +./DUd £B+2C A &,
S £A=3x-1. /B=vy2 +C=2y+6Wd +D=5x+7 &l

206°, 154°



200°, 160°
175°, 185°
168°, 192°

Correct Answer :-

206°, 154°

19)  An exterior angle of a triangle is 1337 and its two interior opposite
angles are equal. Each of these equal angle is:

U TS T 9 HIOT 135° § TN $6E &1 Id: GEIE HIOT
THA ¢ 58 T Icdd HIT g

47 v
1.

52 Y4
2.

67 Ve
3.

450
4.

Correct Answer :-

67 150

20)
Find the value of x in the given figure.

0 50/N\25
B C

A
/& S AP A, x FT AT AT F




130°

857
2.

1
3.

90"
4.

Correct Answer :-

85"
21) . I 5, (S QP
The propertv that allows to calculate (5 * E) + (E * E) =3 Is
O~ O T _
ar @i @ aEr & S (3x D) +(3xS) =2 & aorer &y sgafa dar &
1. Associative property /
e o
2. Distributive property /
[CRAURIL

3. Closure property /
RS 01
4. Commutative property /

ELICIRE R

Correct Answer :-

« Distributive property /

22)
InAABC, 2C=90° . BC=AC=3y2.then AB= ./

AABC #,2C=90°  BC=AC=3/2 .dTAB=_

1.5

2.7



3.8

4.6

Correct Answer :-

e 6
23) ; : :
In a quadrilateral ABCD, #A+ #Cistwo times £B+2D_If
£ A=140° and » D=60° , then £ C=7
UF TG ABCD #, LA +2C. £B + 2D &T GR[T &1
e £A=140°3K £ D=60°ar 2C=?
L 60°
100°
2.
80e°
3.
120
4.

Correct Answer :-

100°

24)

Geetha had Es 600 She spendsi of her money on note- books, i of the remainder on

: : 3 ; : : :
stationarv items and P of the remainder on cosmetics. How much money is left with her?

AT & U 600 T | T AegH W T I & . FEe A | A9 F - 3R
WWW&WH%E&W%IWWWT@T&WW%

1. Rs 120/
120 %4U

2. Rs 200/
200 »4u

3.Rs 300/

300 »UUl



4. Rs 320/
320%4U

Correct Answer :-

e Rs200/

25) Choose the number not divisible by 11. /
11 9 fawrfora 7Y 817 areft S &1 9g S|

1. 1230321

2. 50169306

3.902154

4. 6138165

Correct Answer :-

e 1230321

26) ABCD is a parallelogram and the midpoint of the sides of ABCD are joined to form another
parallelogram PQRS. If the area of PQRS is 20 cm?, then the area of ABCD is ./

ABCD T® HHTHIAR gy 8 94T ABCD & YT & Heafdg firaes ue 3= guiar agys PQRS &1 fmtor
Pdl 21 afc PQRS T &A% 20 AHI2 §, 1 ABCD &1 &9%d _____ gl

1. 80 cm? / 80 T2

2. 40 cm? / 40 T2

3. 100 cm? / 100 912
4. 1600 cm? / 1600 IH12

Correct Answer :-

« 40 cm? / 40 TH2

27) A numeral is the ./

TS GSIi® gl

1. position of an element in a sequence / Ydh 3{Jch H ff U dcd ﬁ @Alﬁf



2. symbol to represent a number/WmT%mWW

3. cardinality of a set / Udh e o1 T

4. none of the above /mﬁﬁﬁg:@f

Correct Answer :-

« symbol to represent a number/Wﬂ@T%qﬁlﬁﬁlaWW

28) There are 100 cookies in a packet. If there is ‘m’ packets, then total cookies can be written as: /

T® TP # 100 P 81 Al Thel Bt GBI 'm’ 8, T PPIoI B Pol JBAT B f@n o o 8:

100

m
1.

2. 100m
3. 100 +m

4. 100-m

Correct Answer :-

e 100m

29) ‘Gitika’ by Aryabhata is a collection of: /
MU gRIWgd Mifadr &1 ue TUs B

1. Kalakiya — Work on time and measure / HIATHIT-THY GﬁT AU R Oblqr

2. Problems on Arithmetic / 3BT TR Feaif
3. Gola (Sphere) / el (ﬁ_q")
4. Astronomical tables / T aTi%mﬁ

Correct Answer :-

e Astronomical tables / T all%l$|ﬁ

30) Micro Teaching technique was brought to India by ./

G&H AT (TSP AR doie, yra A FIICIERIER
1. Atkinson / Qa'm:[



2. BK . Passi /@f% Is]
3. Allen / Uddd
4. Anderson / T34

Correct Answer :-

e B.K. Passi /@f% Is]

31) Unit plan for teaching mathematics is done in the ./
Tfora fRreror & foe g aie H &} STt B

1. post-instructional phase /W-Gl'j,aiilld-ldJ IRU]

2. pre-instructional phase / -3 j&?lld—ld” ERUY
3. teaching-learning phase / TRIGTUT-S{fENTH TRTT
4. evaluation phase / HedTdh+ TRU]

Correct Answer :-

 pre-instructional phase / -3 'j,aQI [Hp drU]

32) Thorndike's ‘Law of Readiness’ is made use of in the / ?ﬂﬁ@ﬂw & "qURAT BT
raw &1 Iugh o far wirar g1

1. Unit Plan / SPTS Tl

2. Lesson Plan / UT& OIS
3. Home Work / 7§ Eap|
4. Preparation of objectives / 3%35] f & Jar)

Correct Answer :-

e Lesson Plan / UTS OIS

33) 2x+3y=10 has: /
2x+3y=10 T:
1. No solution /

P55 Tol o

2. A unique solution /



T f[aRv g 8|

3. Only two solutions /
LSRR

4. Infinitely many solutions /
A EY A PE Al

Correct Answer :-

« Infinitely many solutions /

3Fd U BS g

34) Mensuration integrated with geometry makes drawing of regular shapes introduced to children in
four ways -

1.aesthetic

2. approximation

3.comprehensive

4. association

This is known as /

ST & 1Y Jfea eafifa 3 fFrafte snefaal @ Warfm a9 o s=) & forg ar
TIHI A WA g¢ -

1. gofaguf

2. gfaded

3. U

4. Argad

3 SEUATHEISEG

1. Technique of approximation / gfAde &l db-ldb

2. Technique of mathematization / IO IR i Theiich
3. Technique of quantization / gRATIfHR BT dh-ilh
4. Technique of ideation / [EEIRUEIGERIED

Correct Answer :-

« Technique of quantization / TRHTUIDHRUT I db-ildh

35) Choose the pair that is not twin prime. /



I G BT G D ol Tgad YT 761 8
1. (91, 93)
2. (59, 61)
3. (41, 43)

4. (101, 103)

Correct Answer :-
« (91,93)

36) If PQ and RS are two equal and parallel chords, the distance from centre to PQ is 5 cm, then the
distance between PQ and RS is: /

gfe PQ 3MT RS &) IRTER 3R JHiaR a1 §, % A PQ #1 gt 5 At 8, A PQ SR RS F fu st g =1 &:
1.10 cm/
10 gt
2.25cm/
25 At
3.2.5¢cm/
2.5l
4.5cm/

5 9t

Correct Answer :-
e 10cm/
10 It

37) Vedanga jyotisha in astronomy was compiled in 1200BC by ./

G A A agiT AU H 1200 SATQEH _ GRT Aohferd fovdr T 4TI
1. Aryabhatta / 31T8fﬂ-|'g’

2. Sulbakar / JeaTHR

3. Bandyama / §GgH

4. Lagadha / <IITTYT



Correct Answer :-

o Lagadha / <imTT

38) The length of the arc of a sector is 22 cm and the area of the sector is 231 sq cm then the angle of the
sector is: /

TP TS P IATY B GaTS 22 AT 3R TS BT &A% 231 T 91 8, A TS BT HIv - 8-

0
L 60
1200
2.
450
3. 453
90°?
4,

Correct Answer :-

60°

39) The perimeter of two circles are in the ratio 2:3, then the ratio of their areasis ./
3 gt @Y aRf &1 SrguTd 2:3 8, @ 3% &FEd BT AU gl

1.2:3

2.4:9

3.3:2

4, 9:4

Correct Answer :-

40) One of the objectives stated below is not measurable and that is: /

) fAu e ST A A v "o AE ® SR UE gl
1. To develop critical thinking. / 7Tg- RaT o faeRid FH & f%l'q
2. To identify their shapes in the nature. / W T 39! GTI?W I PREIG] CRCk: ﬁ‘I'Q

3. To illustrate equal sets / THTH T D1 RS HRA o felT




4. To recognize rational numbers. / dHITd ABAT3 P Ugdl- B %ﬁfq

Correct Answer :-

o To develop critical thinking. / 7Tg+ IEREEARGEARE] m%m

41) Which of the following is an open-ended question? /
fFrafafaa # A $19 te Nu-tSs Uy 82

1. Anusha has a total of 50 Rupees. What are the possible denominations she can have? / 3{JU[ & O P

50 30
g1 3P U GHIfad Jeaa! 31 8 9ohd &2

2. Area of a square is 400 cm2. What are the possible values for the side of the square?

/ U I T QT d 400 THI2 B | 7 Bt Yol & forg THifad A= R 82

3. Prove that the square of an even numbers is even. / I%I@ & b I %R?HIGﬁWEITf

TH g
4. State Pythagoras theorem /WWWﬁWI

Correct Answer :-

« Anusha has a total of 50 Rupees. What are the possible denominations she can have? / 3{JUI & U

%d 50 3T
g1 3% U THIfad Jeaa'! &1 81 Iahd 8?2

42) ‘Mathematics is the mirror of civilization’ was stated by: /

IO FIIdT BT YT 8 I’ §9b GIRT H T T

1. Newton / gcd
2. Euclid /m
3. Hogben /ETTIQT-[
4. Plato / &iEl

Correct Answer :-

« Hogben /_El'\ll"Ta:[



43) CANCELLED

Who among the four is not a non-Euclidean? /
IRl # J $iF U IR-gfFarsad 181 82

1. Renaissance / JASITROT (RAw=)

2. Bolyai / Eﬁ?ﬂ]‘s’
3. Lobachevsky / NIEEESEI

4. Enclid / TAfGdS

Correct Answer :-

« Enclid / TAfaaS

44) Which one of the following statements is true about power/exponent? /
fFafafed 4 9 $9-91 Y= ga/ e & 96y | 99 82
1. In 102, 10 is the power and 2 the exponent /
102 %, 10 ©1d 3R 2 UTdib &
2. (5a)IO = 5aP
3. 10000 is the exponential form of 10%/
10000, 10 ST ©Idicb =0 &

4. 216 is the third power of 6/

216, 6 BT AIRT ITT &

Correct Answer :-

e 216 is the third power of 6/

216, 6 BT AIRT ITT &

45) CANCELLED

Algebra is al-gebra =al-jebr wa'almuqabala. The translation of equivalent words of aljebr and wa’'al
mugqabala is and , respectively. /

e Algebra, al-gebra =al-jebr wa’almuqabala %I aljebr 3R wa‘al mugqabala & qAq™ | BT
3arg 3R Bl




1. restoration , reduction / YT:RITU, YcTd
2. restoration , challenging / YT ®ITY, ﬁ?ﬁ
3. restoration , proving / 1: &Y, Rig Al

4. balancing, solving / I, JHIYM

Correct Answer :-

« restoration , reduction / YT:RITU-, YcTd

46) CANCELLED

If the mean of “1'¥2:%3: is 4, then the mean of 2%y, 2%3,2%3 is ./

gfe *vXeXa PIHTAA4T, @ 2x1,2%3,2%3 HIE gl
1.2
2.4
3.8

4.6

Correct Answer :-

47) CANCELLED

If one zero of the quadratic polynomial is x~2+3x+k is 2, then the value of k=

gfe feaTd 9gUe xA2+3x+k BT TH YLAF 28, MK HTAM = |

1. —10

w“'ﬁ
2.

3.10

4.5

Correct Answer :-

48) CANCELLED



Which of the following is not under remembering objective? /
frafafaa % @ o9 wRig faug & stfa 8t smar g2

1. Measures accurately / YT ATY HAT

2. None of the above /mﬁﬁaﬁgﬁ

3. Recall term /Wﬂ’qw

4. Recognizes formula / JA Ug I

Correct Answer :-

« Measures accurately / YT ATY HAT

49) CANCELLED

A, B, C and D are positioned at (12, 2), (16, 4), (18, 8) and (2a, 6). If the points are joined a rectangle
ABCD is formed, find D’s position. /

A,B,CTE D (12, 2), (16, 4), (18, 8) T (2a, 6) W fya &1 afe fargan &1 firamar wme ot v smaa ABCD 49
7T 8, o D 3 fRUfT yra +¥

1. (14, 6)
2. (13, 6)
3.(11, 6)

4. (12, 6)

Correct Answer :-

50) CANCELLED
Which of the following formula holds good for zeros of a quadratic polynomial? /
fFrafafaa & @ #9913z fFurd 9gue & = ) 98 i | uRufia searg?

1. Product of zeros = coefficient of x/constant term /

R BT IUM= x &I UIPh/ 3R UG

2. Product of zeros = Constant term/coefficient of x /
R BT UM= 3R UG/ x BT Ul

3. Sum of zeros = -(Coefficient of xz)/coefﬁcient of x /



[ BT ANT=-( x2 BT UN5)/ x BT 0D

4. Sum of zeros = -(Coefficient of x)/coefficient of x2 /
S T A=+ x BT IO)/ %% T 011D

Correct Answer :-

« Sum of zeros = -(Coefficient of x)/coefficient of x2 /

T &1 UNT=-( x BT Ul1h)/ x2 BT Ulich
51) CANCELLED
Pythagoras established the order called ./
USUTIRE A AT 3ifex &1 wiifud fFam
1. Figurative numbers / N INEAIREZRSEE ||
2. Brotherhood / SaXg S
3. Pythagoreans /urstrrlﬂw
4. Mathematics / TTTOTGI

Correct Answer :-

» Pythagoreans / USYNIRY

52) CANCELLED

Choose the correct statement about integers. /

quifenl & fawg & 9dt U= &1 999 B

1. Subtraction is commutative for integers /
gera quifes & fore fafaasiier giar g

2. Addition is associative for all integers /

T JH quifep] o ey Fg I el & |

3. Division is associative for all integers except 0 /
U o ®! SewR Tt guifert & fog wrewd grar g1

4. Whole number are closed under addition & subtraction /

quf TR AT 3R TeTd F Sidid Siavg gl g |

Correct Answer :-



» Addition is associative for all integers /

grT @t guifept & fog geantt giar g |

53) CANCELLED

What will be the sign of the product if we multiply together:
1. 9 negative integers and 4 positive integers

2. 5 negative integers and 5 positive integers

3. 4 negative integers and 7 positive integers

4. 8 negative integers and 5 positive integers

5. (-3), 2n times, n is a natural number. /

afe gW 3¢ MU H I[N $=d B a1 AT $1 FRIg 1 gHMm:
1. 9 BUTHSP YUITH 3R 4 YIS QUIfe

2. 5 BUHS QUIIP 3R 5 YATHSD YUIH

3. 4 BUMHS UITH 3R 7 YFATHS QUIiD

4. 8 BUNHD YUITH 3R 5 YHATHP QUID

(-3), 2n SR, n T UIPHd G&T ¢!

1. i — positive, ii — negative, iii — negative, iv — positive, v —negative /

i — eFTHD, ii — BUTHD, i — BUTHD, iv — YTHD, v — BUTHD

2. i — positive, ii — negative, iii — negative, iv — positive, v — positive /

i — FTHD, ii — BUTHD, i — BUTHD, iv — YTTHD, v — YATHD

3. i — negative, ii — negative, iii — positive, iv — positive, v —positive /

i — SBUMAD, ii — BUTHD, iii — YTTHD, iv — YITHD, v — YATHD

4. i — negative, ii — negative, iii — negative, iv — positive, v —positive /

i — BUTHD, ii — BUMTHD, iii — BUTHD, iv — YTHD, v — YITHD
Correct Answer :-
e i—negative, ii — negative, iii — positive, iv — positive, v —positive /
i — BUMTHD, ii — BUMHAD, iii — YATHD, iv — YATHD, v — YATHD

54) CANCELLED



Which of the following is the multiplicative identity in the set of whole humbers?

/
Frafafad 9 3 o9-a1 7ol Jenst & Ig=a § uids guEgdr 8?2
1.1
2. All whole numbers /
T2t gof wemd
3.0

4. -1

Correct Answer :-

55) CANCELLED

When N is a set of all natural numbers, W the set of all whole numbers, Z the set of all real numbers,
then which of the following is true?/

gfe N [t urpa el &1t =y g, W 9+t quife! &1 aq=ra €, z 9t arafas Semnsi &1 9= g,
@ Ffafee # @ S-ar 9 82

RcZcCcWcCN
1.

WCcNcRc?Z
2.

NcZcWcR
3.

NcWcZcR
4,

Correct Answer :-
NcWcZcR

56) CANCELLED

Find the sum of perimeters of an equilateral triangle and a regular pentagon whose both side is 4
cm. /

TP qHETg By 3R Te Frafia dayst @t aRfREt o1 9 31 &, Rrae a1 yemd 4 ah €

1.32 cm/



32 At

2.252 cm/
252 At

3.36 cm/
36 TH

4,62 cm/
62 Ut

Correct Answer :-
e 32cm/
32 It

57) CANCELLED

Find the perimeter of the triangle whose sides are 4 meter, 5 meter and 60 cm. /
Brys &1 ufemmg 39 &, Rt Yo 4 Miew, 5 fex ik 60 I &1

1. 69 meter /

69 HIex

2. 9.6 meter/
9.6 11“3?

3. 3600 meter /
3600 131 [oX4

4. 6.9 meter /
6.9 11“3?

Correct Answer :-

e 9.6 meter/

9.6 HIex

58) CANCELLED

In a right angled triangle the square of the hypotenuse is twice the product of the other two sides.
Find one of the angles of the triangle. /

TH FHSB Y & Bl &1 @t 30 Y Yot & YU BT SR ] 1 Y & Hion & A TH i B



3, 30°

4 60°

Correct Answer :-

59) Express 15625 as a powerof 5. / 5 & °UTd U H 15625 P AT |
14
2.5°
3.5°
4.6

Correct Answer :-

60) A(3,5) and B(-3,5) are the end points of the diameter of a circle. Find the centre of the circle. /
A(3,5) Td B(-3,5) T 90 & &N & Sifaw fig &1 g9 &1 s 9d +¢)

1. (5,0)

2. (6,5)

3.(3,0)

4. (0,5)

Correct Answer :-



